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( ) Tize guestzen paper camprwes;ur sect:on.s*A B C' ana' D There are 36 N

_ Pﬂpei" AH questrons are compulmry YRS : quemo”"" "‘ ’ke ?He.mo,, 1

; (i) Section—4 — - question no: 1 to-20. all quesr:ons and parrs thereofare‘ of One mark ,,,,,
- questions contam multiple choice questions’ (MCQS) very short answer questions. arfgc;fs T&es

- reason {}fpe quesnons Answers to these shouid be gwen m one word or one. semenc “'emen
e

_; (m) Sectron—B — question no. 2! to 26 are’ short. answer type questions, carrymg 2 marks e

_ Answers to these quesnons should be in the range of 30 to 50 words. ach

- (iv) Section—C - question: no. 27 10 33 are short answer type. questmns canymg 3 mar];g

_  Answers to these questtons shauld be in the range. of- 50 10,80 words., : each

i (%) Section-D — question no, 34 1o 36 are long answer:- type questions. canymg 5 marfﬁg each

| Answer to these questions should. be in the. range of 80 to 120 words. . el e S

| (vi): There zs no_overall ckarce However mternal cho;ces have been provzded in Some quesrmng'. :
A .S'Iudelit has 10 artempt only one. of the: aItemanves in such questions. . i 1

kS:SU

(w:) Wherever neeessary neat and proper[y labelled d:agrams shou.’d be drawn e .‘ i e :
SECTION - A
1. What change in colour is observed when white silver chloride is left exposed to sunlight? State
the type of chemical reaction in this change. 1
Ans. Silver chloride becomes grey. It is a photochemical dccomposﬂmn reaction.
OR

Write a balanced chemical equation for the reaction between sodium chloride and silver nitrate
indicating the physical state of the reactants and the products.
Ans. AgNOs;(ag) + NaCl(ag) — AgCl(s) + NaNOs(aq) _
2. Lithium, sodium and potassium form a Dobereiner’s triad. The atomic masses of lithium and

potassium are 7 and 39 respectively. Predict the atomic mass of sodium. [1]
7+39 46
Ans. Atomic mass of sodium (Na) = 3 "y 23
3. Organic compounds having the same molecular formula, but different structural formula, are
called: ; (1]
(a) allotropes (b) isomers (c) isotopes (d) isobars
Ans. (b)

4. A positively charged particle (alpha-particle) projected towards west is deflected towards north
by a magnetic field. Find the direction of magnetic field. (1]

Ans. Upward (apply Fleming’s left-hand rule). .
5. What is the maximum resistance that can be made using five resistors each of 1/5 &7 [
Ans. 1 Q . | o

6. Name the device used for measuring electric current.

Ans. Ammeter

OR l
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'fJ” el"’Pfoyed jbr.é.le el . l % iy
e : CIricity transmission? 22 it
low_ resmtwity, .Thus,-large Loaronsti i s L

Wwhy are copper and aluminium wiyes usual
. nd aluminium have ve

» Copper and alur m- have very
3 through them w;thaut_ any wastage,

amount of ¢ is:tronsmitied. K.
- Obcurrent, is: transmitted {8

ism is able to prod o SO LTSS B S e i iosiige . Nl
7. A glass prism is a produce a spectrum when white ligh : G B Rk T
does not prfaduceh_any Sp.ecrmm‘ Explain why is it s0? o pms?s mmug‘-h o S'IFL?[I 1
For dispersion, the two refracting surfaces must be inclj : ' : 10 B
L ANS: . . e inclined to each other as in ca R
g In rectangular glass slab, the refracting surfaces are 1 | case of prism..
i . E | - parallel to each other. So, dispersion cannot
L ¢ Jrhat are two factors on which lateral displacement - s
8. s | ghrt placement of an émergent ray from a glass slab
AnS. (i) Angle of incidence (ii) Thickness of glass slab, RPE S : e WS '[.1]_'

9. IWhat does the direction of thumb indicate in the right-hand !hl-lmb' rule? 1 5 . : 1
Direction of current. : ! ) [.]

A ?;r:ular coil carrying current is held in horizontal plane. In-ﬁ!tic}r a’frectlion .wiﬂ'l .E:e. its n;r-agneric.'-
eld - - 3 ;
:-Ans- }'?rhe magnetic field will ?: Iin_ the \'ferticall plané. _.
10. Name one sexually transmitted disease caused due to viral infection.
Ans. AIDS (Acquired Immuno-deficiency Syndrome) _
{1. What are the functions performed by testis in human beirzgs? (1]
Ans. Two functions performed by testis in human beings are as follows :
(i) Formation of sperms _ ; R -
(ii) Secretion of the hormone testosterone
S S "OR
Give a difference between regeneration and fragmentation:

Ans. In fragmentation each small part grows into a full organism while in regeneration if an argaﬁ of
an organism get damaged, it regenerates.

Al

12. State two problems caused by the non-biodegradable waste that we generate in our daily life. [1]
| Ans. Two problems caused by non-biodegradable waste that we generate in our daily life are : _
(i) It clogs drains. (it) It causes water and soil pollution.

OR -~
| What will happen if we kill all the organisms in one trophic level? ;
Ans. If we kill all the organisms in one trophic level the organisms in previous trophic level will
: increase and the organisms in next trophic level will die of starvation.

.: 13. Why do herbivores have longer, small intestine than carnivores? . ' (11
| Ans. Digestion of cellulose needs an enzyme cellulase. Hence, herbivores have a longer small intestine
. to allow complete digestion of cellulose.

'.:Directiuns (14-16): For question numbers 14, 15 and 16, two statements are given — on? labelled
'f}*’ksscrtiun (A) and the other labelled Reason (R). Select the correct answer to these quest_;uns from
the codes (a), (b), (c) and (d) as given below: _ il :
 (3) Both A and R are true, and R is the correct explanation of th_e assertion. .
(b) Both A and R are true, but R is not the correct explanation of the as._sertiq_m. '

aq-. ? e ESRIT Al
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14. Assertion: Phosphorus cannot he kept in air
Reason: Phosphorus spontancously melts in air.

o

Ans. (C)
15. Assertion: Saliva contains salivary amylase,

! Reason: Pepsin digests lipids. : Iy
. Ans. (c) ;
j OR

Assertion: Pyvruvate is a three carbon molecule.
Reason: It is prepared in eytoplasm as_a first step to cellular respiration

Ans. (a)
16. Assertion: All the crow species are entirely black in colour. :
' (1)

Reason: The colour of the crows is a biological adaptation.

Ans. (d)
Directions (17-20): Answer Q. No. 17-20 contain five sub-parts each. You are cxpecf;d to a .
]IS“'(-I-

any four sub-parts in these questions.
17. Read the following and answer any four questions from 17(i) to 17(v). [
x4]

Observe the diagram carefully and answer the questions that follow.
iron nail

Leave for one week whua\ 5.
reaction takes place

blue copper green Iron
sulphate sulphate @
solution solution

Copper metal
oniron
Before After
(1) The equation
Cu +XHN03 — CHWOj)g + yNO) 5 2H20
The values of x and y are _ .
(c) 4 and 2 (@) 7 and 1

(a) 3 and 5 (b) 8 and 6
(i) What happens when copper rod is drpped in iron sulphate solution

(a) Copper displaces iron

(b) Blue colour of copper sulphate solution 1s abtamed _ T Al
(c) No reaction takes place oo _ » 3
(d) Reaction is exothermic :

(iii) A substance which oxidised itself and reduces other is known as .
(b) Reducing agent

(a) Oxidising agent .

(c) Both (a) and (D) (d) None of these
(iv) Fe,0; + 241 — AL,O; + 2Fe

The above reaction is an example of a:

100
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(a) Combination reaction ; , ' T , o
, it h) D, | : 3 o : :
(e) Decomposition reaction (b) Double displacement reaction. .. . i /ﬂ

) ; Yy _ (d) Displacemen reaction = -
(v) Name the products formed wiien iron filings are heated with dilute hydrochf i i
(a) Fe (Il) chloride and water ) Fe (1) chloride-ang v oric acid. "

(c) Fe (1) chloride and hydiogen gas () Fe (I1) chloride and B s L

snse @ISR R (D), (0) (iii) (b) (v) (d) ) (e
(8. Read the following and answer any four questions from 18() to 18(v) “W()
Elcctricity Is the transfer of electrons from one aiom (o another. Ele %
they sometimes are attracted to atoms that have a positive charge. Electrons orbit i
surrounds the nucleus of an atom, Electrons then sometimes jump fo the hot; i ;rea that
as they orbit. This jumping or movement of electrons creates electrie cnf- " : Oé:near ! gmfs
flows through electrical wires and power electronics items, from light bi‘rlb.:i:; .Ie!:vrzz;;s ik
(i) When electric current is passed, electrons move ﬁ'om : :

(a) high potential to low potential (b) low potential to high potential

[1%4]
clrons have a negative charge,

(c) in the direction of the current (d) none of these
(i) Which of the following is not correctly matched?
(@ —| F— : 4n electric cell (b) —ww— : A resistor
(c) —(*}—: Open plug key ' ; (d) -%— : A rheostat f
(iii) Coulomb is the SI unit of : ﬂ
(a) charge "~ (b) current (c) potential difference  (d) resistance

(iv) Three resistors of 1 Q, 2 Q and 3 Q are connected in parallel. The combined resistance of
the three resistors should be : :
(a) greater than 3 Q : (D) less than 1 Q
(c) equal to 2 Q (d) between I Q and 3 Q

(v) The following graph shows current versus voltage values of some unknown conductor: What is the
resistance of this conductor?
Vv

Voltage
i

Current (1)

(a) 2 ohm (b) 4 ohm (c) 8 ohm () 1 ohm
L Ans. (i) (b) (i) (c) C (i) (@) (v (b) W) (a)

19. Read the following and answer any four questions from 19(i) to 19(v). 3 [1x4]
All living things need food and energy to survive. The food-making and energy process for pt‘an'rs
{o survive is called photosynthesis. Plants make food and produce oxygen through photosynthesis.

This process is complex but with the sunlight, water, nutrients from the soil, oxygen, and chlorophyll,

a plant makes its own food in order to survive. Chlorophyll is a green chemicq{ inside a pfm;é
: Sun's énérgy to make food. Without chiomphyﬂ a green p{am: would . .

that allows plants to use the
not be able to survive.

101
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Ans,
20.

) Wh:ck graph shows the effect of temperature on the rate of photosynthesis?.. .
(a) \ (b)
Rate of
Rate of :
photosynthesis : photosynthesis
0 70 0 - 70
TemperaturaFC Temperature/°C
(c) (d)
Rate of
Rate of :
photosynthesis photosynthesis |
0 70 ' 0 70
Temperature/°C Tempgratureﬁc

() Which among the Jollowing statements is incorrect in view of the plants?
(a) They convert solar energy into mechanical energy.
(b) They prepare their own Jood from organic compounds.
(c) They are also called producers.
(d) They are the initial source of energy in a food chain. :
(1ii) Which of these reactions occur in photosynthesis?
(@) Carbon dioxide is reduced and water is oxidised.
(b) Water is reduced and carbon dioxide is oxidised.
(¢) Carbon dioxide and water are oxidised.
(d) Carbon dioxide and water are reduced.

(tv) Which of the Jollowing statements about autotrophs is incorrect?

(a) They synthesise carbohydrates by using carbon dioxide, water in the presence of sunlight
and chlorophyil.

(b) They store carbohydrates in the Jorm of starch,
(c) They convert carbon dioxide and water into carbohydrates in the absence of sunlight.
(d) They form the first frophic level in food chain,
(v) The opening and closing of stomatal pore depend upon
(a) oxygen (b) water in guard cells
(c) concentration of carbon dioxide in Stomata
(d) temperature

(1) (d) (ii) (b) (iii) (d)

Read the following and answer ap

(iv) () W) ®)
Y four questions from 20(j) to 20(v). )
A magnet has a north and south pole, The north pole of a :

The area surrounding q magnet is called its magnetic field. The
magnetic field of q magnet is an invisible field which js created

102 Treny
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WIS e th angefe 5

::ll attract oraepel capl) t'l':;:tffl't::::,h" magnetism prohibly seemed (ke mayie, The force for magnets

it NAETRE f-usngd 1 foattract othey abfects i cunyed by moving electrons,

FLRALA ¥ LN b g

ot T AR D it } 'h.*? ft\-”:'n"” an-unmaymatised pleee of magnetic material, such as an
. NN oy f’,'ll r-h‘hhflr” itwith the muaghet. This s cafled magnellsation,

Magnets made by thiy way g call
" o, [ A £ i "' 1 e i
manetisn,  temporary magnets: hecause they eventually lose their

(1 '.-”".f'\' :: ;‘;{;!?t'm-:'m'.t:i'fn,q conductor in the plape of the paper as shown
in it What are the drm*rmmuf'unwrr-ﬁrﬁ:-.'n'x produced by it at points P9
(@) into the plane of paper ' ' A S
‘ M pap (h) o field will be produced '
(¢) onr of the plane of paper () none of these
(i) A soft ron bar is inserted inside o current-carvying solenotd, The magnetic
Sield inside the solenoid will S
(a) will decrease (b) will increase i
(¢) will become zer (d) will remain the same

(i) 1 nwo cirenlar coils are arvanged in any of the three sitwations as shown in the diagrams
below, then their mutual induction will be

(a) maximum in situation (x) | (b) maximum in situation (y)
(c) maximum in situation (=) (d) the same in all situations
(iv) The shape of the magnetie field lines produced by a current-carrying conductor is :
(a) straight lines (b) concentric circles
(c) zig-zag lines (d) both (a) and (b)
(v) Which of the following diagrams correctly shows the magnetic field produced by a current-
carrying wire?
A. B. C. T D. T
e~ e~
-
_ (a) A ) B () C @R o
s, (i) (a) (ii) (b) (it)) (a) () () ko
SECTION - B
(2]

- ines el on it:
21. Draw a neat diagram of excretory system of human beings and label

| (i) Left kidney (i) Urinary bladder
 Ans. Excretory system of human

&

Scanned by CamScanner



Left kidney

Urinary bladder

OR
Draw a diagram of human respiratory system and label on it : (i) Diaphragm (i) Larynx
Ans. Respiratory system of human. '

Larynx

Diaphragm

22. (i) Write the balanced chemical equation for the process of photosynthesis. _
(it) When do the desert plants take up carbon dioxide and perform photosynthesis? [2]
Ans. (i) Photosynthesis can be represented as a chemical equation : '

6CO, + 12H,0 Gt &NeI0Y | ¢« H1,,05 + 6H,0 + 60,

(i) The desert plants open up their stomata during night and take in CO,. Stomata remains close
during the day time to prevent the loss of water by transpiration. They store the CO, in their
cells and carry on the photosynthesis during day time.

23. Define homologous series of organic compounds. List its two characteristics. Write rhe name and
¥ formula of the first member of the series of alkenes. oy
Ans. The series of organic compounds having same functional group and similar chemical pmpem€>

is called homologous series. Each member differs from successive member by CHa~gl‘0“P
difference in molecular weight between two successive members is 14 u. :
Characteristics : : :
(i) It has same general formula, from which, all members can be derived.
(i) They have similar chemical properties.

C,Hy, CH,=CH,, ethene is the first member of alkene series. -

104
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Whet are Isomers? Dygy, the strye R

Organic compounds having the 4
hence, different physical gng che

Two isomers of butane (C4H1u) .

S of butgne (C‘mel-

formula byt diff

erent stru
are called isomer. ctural formulae, and

AN A4me molecylar

mical propertjes

H H g H -
HeCm g | W
C—C—c— H H=C l !I
RS L e
H.-H.. Hq H H l 1
n-butane _(I:_H 2
H
iso-butane
4. State reason for the Jollowing statements K
(i) Name a salt which dopes 10l contain water of erystallisation l oA

(if) Ammonia is a base byt does n

[ ot contain hydroxyl group.
Ans. (i) Zn30y (zinc sulphate) p

Ans. [ = +18 em, v =24 ¢m

o aniel 1 1.1
Using, v Wegeto=-.

=u=-=72cm

Object should be kept at a distance of 72 cm on the left
o W, |
Magnification, m = + 4 213

Image is inverted, real and diminished.

side of the convex lens.

26. The V-I graph for two wires A and B is shown in the Sigure. If 5
{ both wires are of same length and same thickness, which of the | '

two is made of a material of high resistivity? Give Justification
. for your answer: [2] "'T B
 Ans. Greater than slope of V-I graph, greater will be the resistance of

given metallic wire. In the given graph, wire A has greater slope
than B. Hence, wire A has greater resistance. For the wires of
| same length and same thickness, resistance depends on the nature il
. of material of the wire, i.c. =

! !

Ry=py7and Ry =pp

R _ P
Ry P2
Thus R «< p

Hence, wire ‘A’ is made up of a materials of high resistivity.

=

¥
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| SECTION-C |

27, Give the role of the following in digestion of food : i NGV o : .[3
: '(a) HCl in our stomach.  (b) Emulsification of fats  (c) Pancreatic Juice i 3]
Ans. (a) (i) It sterilises food by killing pathogens and other microbes.
(i) It has a pH of 2, which is perfect for enzymes Isuch_ as pepsin
simpler form,

(iii) It helps emulsify food (digestion of protein and stimulates the pancreas to
enzymes and bile).

(b) Emulsification of fats involves breakdown of large glob'ules__fats into small
(c) Trypsin is the enzyme secreted by the pancreas which aids in digestion of
2t OR
Look at the given picture and answer the Jollowing :
(i) Label the parts (a) to (d).
(i) Give one advantage of having a '!a'rge number of these .
highly coiled structures in our kidneys.

(iii) Mention any two substances which are selectively

reabsorbed as the filterate flows along the tubular part
of this unit.

Ans. (i) (a) Renal artery
(b) Bowman's capsule
(¢) Glomerulus
(d) Collecting duct

(ii) They help in increasing the surface area for filtration and
proper reabsorption of useful substances.

(ii1) Glucose, amino acids; salts, water. .

to break down rofat
P Otemlg.lm0
prcaduc&:'digelstive

er fats dfdpléts'
proteins__ %

28. With the help of a flowchart explain in brief and show how the sex of
determined in human beings.

the child?

Ans. Mechanism of Sex Determination in Hum
is genetically determined.
* Sex determination is the process
by which sex of a new born Mother's
individual can be determined. ' o

a new born is genetically |
Which of the two parents is responsible for determination of sex of |

. _ 3]
an Beings : In human beings, the sex of the individu
-Father's
sperms
* Human beings have one Gametes:
-unpaired sex chromosome, Sex .
chromosome of male is XY and
of female is XX

® Sex of a child depends on what

Zygote:
happens at fertilisation, S
* If an ovum is fertilised by a Offsprings: Femaig child Fecal MaIBachd

it will be a girl child,

* But if the ovum is fertilised b
Thus, father is

e

y the sperm carrying Y-chromosome, .it will-.b,f?;-?l_ﬁb-oyi‘fphil-d_’

responsible for the determination of the sex of a child.
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99. “Damage to the ozone layer is
to limit this damage.

ADS- Ozone layer prevents the harmful ultravioiet ..rac.liatiolri .

a cause for concern,”

ffects on human boc . F e N
zancer éhénges inbOdy gnd _m_;hgr organisms of the envij o : ; ous =
i °S In genetic material (DNA), eye damage, ctc.
TWO StepS. to hmit this damage are as fUHOWS' Fith ’- '
(i) Judicious use of aerosol spray pro : 0 3
A pellants such a
cause depletion or hole in ozone layer. # uorocarbon and chloroffuorocarbons which
(i) Limited use of supersonic planes. ' '

30. Write the chemical equation of the reaction

i e in which the Jollowing changes have taken place wftf:

(a) Changt? in colour (b) Change in temperﬁmre (c) Formation oflpreczpitate i
ans. (2) Cu(s) + 2AgNO; (ag) Cu(NO3), (ag) + 2Ag Nk
The soﬁlutlon will becomg blue in colour and shiny silver inetal will be deposited ‘Aﬁwﬁ i 4
(b) NaOH+ HCl — . NaCl + H,0 + Heat Cath's
The temperature will increase because heat will be evolved. M.\:QG&%
(c) Pb(NO3), (ag) + 2KI(ag) ———» Pbly(s) + 2KNOs(aq). - wonYem
Yellow precipitate of Pbl, will be formed. i) — I
31. The position of three elements A, B and C in the periodic table is shown below : = [3]
Group 16 . Group 17 | |
B b, C

Giving reasons, explain the following :
(a) Element A is a non-metal.
(b) Element B has a larger atomic size than element C.

(c) Element C has a valency of 1. g _
Ans. (a) ‘A’ is non-metal because it can gain one electron easily as it has 7 valence electrons and

forms negative ion with stable electronic configuration.
(b) It is because being in same period, ‘B’ has lesser atomic number, less nuclear charge, less
force of aftractioni between valence electrons and nucleus therefore, has larger atomic size.

(¢) “C° has 7 valence electrons. It can gain one electron to become stable. So, its valency is equal

to one.
3. (a) State the electron-dot structure for- calcium and sulphur.
(b) Show the fbm;aﬁgn.of CaS by the transfer of electrons. . .. Fo el
(¢) Name the .ions. presént in this qompougrdl-.lCaS. Atomic number of Ca =20, 0 = 6. i [_3']
2,8, 8,95 2,86
(b] Ca-——_.'p;'CaIZ*_- +28' o
S yog MR veas
Cal+§:5C CSE

(c) Cg2+ izt e
[ \ a 2 £
M and S%- ions are pre_gggf 0

—
4 m?»‘.e.ﬂ‘] R
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33. (a) What is meant by power of a lens'?
(b) State and define the S.1. unit of power of a lens. | ¢
(c) A convex lens of focal length 25 e¢m and a concave lens of focal Iengrh. 10 em are
placed in close contact with each other. Calculate the lens power of t{us cqmbirig;:;bn-__- ._ [3]

Ans. (a) The ability of a lens to converge or diverge the ray of light after refraction is fl:a“e‘f'pow
’ : ; : ool o POwey
(P) of the lens. It is defined as the reciprocal of the focal length, i.e., P hm_)-"j 2

(b) The SI unit of power of a lens is ‘dioptre’. A lens of focal length 100" cm has a'ﬁﬁﬁér s

1 dioptre, i.e., 1 dioptre = 1 m™.
(¢) Power of the combination
P= PI + Pz

100 100
=— 4 —=4 - =—6D.
25 +_10 4 - 10 6

[ SECTION - D |

34. What is pollination? How does it occur in plants? How does pollination lead to férﬁgmﬁo"?

Explain, : 5)
Ans. Pollination: Transfer of pollen grains from anther to stigma is
called pollination. It occurs in two ways.

(1) Self-Pollination: The transfer of pollen grains from the anther
of a flower to the stigma of the same flower or of another
flower born on the same plant is called self-pollination.

(1) Cross-pollination: The transfer of pollen grains from anther
of a flower of one plant to the stigma of a flower of another
plant of the same species is called cross-pollination. As the
pollen grains are not capable of locomotion, they have to

Pollen grain
Stigma

depend on various agents for transmission. These agents are ~Ovary
wind, water or animals. %

s e 2 Fe
Then pollination leads to fertilisation. After the pollen grains : :gé:nafe“

are deposited on the stigma, the pollen grains absorb water
and sugar from the surface of stigma and swell up. A tube s
grows out of the pollen grains and travel through the style to reach the oVary;-'.Tﬁe pollen
tube carrying two male gametes which are liberated inside the embryo sac. One male gamete
fuses with the egg to form zygote. The other male gamete fuses with the secondary mucleus
to form the endosperm, which provides nourishment to the growing embryu. Biew

35. (1) Expjfga:;: why is hydrochloric acid (HC)) a strong acid and acetic acid, a weak qcid How caniit be
verified? ok .

(i) Explain why does aqueous solution of an acid conduct electricity? - - ;
(iii) You have four solutions A, B, C and D. The PH of solution 4 is 6, B is 9, Cis 12 and-'ll).i's 7,
(a) Identify the most acidic and most basic solutions. i £
(b) Arrange the above four solutions in the increasing order of H ién concentration.
(c) State the change in colour of pH paper on dipping in solution C and.:D..: e R
5. (i) ;};g:l)[c;]}z:ic;;ciii EEHCI) is com'pletely ionised in aqueous solution whereas. acenc acid ;
e giEE:O;-Sa zgzuzsﬁ;ul;l(:l gives Fiaﬂ-_( red colo_ur.v.n:thﬂp:H papt_:r Whemﬂsac&tm

e )
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(ii) It is because acid ioniseg: X Im.w' = l .l ; : ) i
s e et © vonduet eleetrigiry,
iii) (3) A’ is most acidic ang ¢ 1S Most bagig, _ i OeCiHeity :
® CU0YHY<p (109 < ; :

D (107) « o (100y
(¢) pH paper will become blue in ‘o

and greey iy ‘D,
L OR
(i) Dry pellets of a base ‘x when kept i open abgopy moisture and
is also jformed by chlor-aliqy pProcess, Write chemieql Hame
chlor-alkali process with balayceq chemicql Cquation, Name ghe
X is treated with dilye hydrocfr!m‘:'c acid. Write the chemical ¢
(ii) While diluting an acid, Why is it recommencie that the acid
not water to the acid?
i) (a) ldentify the acid and the
(i your food. Write
it is obtained.
(b)) What is rock sals?

(c) What happens whep
Jor it

(i) X is sodium hydroxide (NaOH), When SO
Ans.

Hrns sticky, The conpound -
and . formule of X. Describe
Ype of reaction oceurs when
Guation, S

should pe

added o Walter and

base whoge combination Jorm

s the commop salt
its formula and chemical name

that you use in
of thiy yaly, Neme the

Source from where
Mention i1g colour any the reason dye

to-which it hqs this colouy.
electricity i passed throug

h brine solution? Write the chemicql equation

dium chloride solution (brine solution) ig clectrolysed,
sodium hydroxide solution is formed. H, and Cl, gases are liberated, This is chlor-alkalj process.

2NaCl + 2H,0 Sectolysis | o 0 Hy + Cl, .
INaOH + HED < i NaCl + H,0 . £—
The above reaction is neutralisation reaction,

(ii) It is because the process is highly exothermic. If water is added tq acid, bottle of acid will :
break. '

is NaCl (sodium chloride). It is obtained from sea water.

i “halite” emical formula is NaCl,
(b) Rock salt is the common name for the mineral “halite”, Its thml(}:} ‘Slor:z;c ek
It may be white or light blue or yellow depending upon the Impurities p
(¢) 2NaCl + 2H,0 ZeColysis |y 4 gy Cl,

6, en

. J= i . : . S, .r .

(a) Draw an equivalent labelled circuit Jor the given data.

ind the resistance of the resistor: ‘ 3 S
(bj f.’md and state the law applicable in the given case. A graph is drawn
(c) Name

2v
Ans. (a) =V

AN
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Ans.

(c) Ohm’s law : When the physical conditions such as temperature, density, length, ete.
same, the current flowing through the conductor is directly proportional tq the bm;:?ﬁm
difference applied across the ends of the conductor, i.c., _ tia)

ITeeV or Vel

v VA
= T constant
— V=IR
Where R is constant of proportionality and is called resistance of the wire,
Since current varies linearly with potential difference, the graph between
V and I will be a linear in nature as shown in figure. 0 I
OR

Three bulbs each having power P are connected in series in an electric circuit. In a

another set of three bulbs of same power are connected in parallel to the same source,

(@) Will the bulbs in both the circuits glow with the same brightness? Justify your answer.

(b) Now let one bulb in each circuit get fused. Will the rest of the bulbs continue to glow in each
circuit? Give reason. )

(c) Representing each bulb by a resistor, draw circuit diagram for each case.
(a) Bulbs in parallel provide more illumination. This is because :
(1) each bulb gets same voltage and is equal to the applied voltage.
(ii) each bulb draws required current from the mains. Hence, they work properly,
(b) When one bulb in each circuit get fused, in series, rest of the bulbs will not glow. This i

because in series arrangement, there is only a single path for the flow of current. Rest of
bulbs will continue to glow as in parallel connection, because individual branch in the ¢ire 3
completes its own circuit, or different paths are available for the flow of current, .
(c) Circuit diagrams :

nother cirey;,

R 1 Rz R3
For series,

I“

For parallel,

L X
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